Supplementary Table 2

V¥ Mb2 cut site

V cCas cut site
Sense-strand
Antisense-strand
Insertion sequence
Deletion sequence
3’ mismatch tail

SITE1

Mb2:

HDRT-B (Sense):
ACAATGACCAACATGGACCCTGTGGACACAGCCACGTATTACTGTGCACGGggcggcgctggecgggtacccatacgacgtteccgga
ttacgctggcggecgeccggeggetactttgattatTGGGGCCAGGGAACCCTGGTCACCGTCTCCTCAGGTGAGTCCTCACAACCTC
Jeko-HCDR3:
ACAATGACCAACATGGACCCTGTGGACACAGCCACGTATTACTGTGCACGGATACGGGGTTTTGGAGTGGTTAACCTCCCTGACTA
PLErrrerrrrrrerrrrrrrerrrrrrrrrrerrerrrerrrrrrrrrrr et e ettt e e e e
TGTTACTGGTTGTACCTGGGACACCTGTGTCGGTGCATAATGACACGTGCCTA ATTG
CTGGGGCCAGGGAACCCTGGTCACCGTCTCCTC A 3’ mismatch tail = 34 nt
FEEETEEErrrrr et et r et

ACCCCGGTCCCTTGGGACCAGTGGCAGAGGAG

Mb2:

HDRT-B (Antiense):
TGTTACTGGTTGTACCTGGGACACCTGTGTCGGTGCATAATGACACGTGCCccgeccgcgaccgcccatgggtatgectgcaaggect
aatgcgaccgccgecggeccgecgatgaaactaataACCCCGGTCCCTTGGGACCAGTGGCAGAGGAGTCCACTCAGGAGTGTTGGAG
Jeko-HCDR3: 3’ mismatch tail = 0 nt \ 4
ACAATGACCAACATGGACCCTGTGGACACAGCCACGTATTACTGTGCACGGATACGGGGTTTTGGAGTGGTTAACCTCCCTGACTA
PErrrrerrrrrrerrrrrrerrrerrrrrrrerrerrrerrrrrrrerrr et e ettt e e e e
TGTTACTGGTTGTACCTGGGACACCTGTGTCGGTGCATAATGACACGTGCCTATGCCCCAAAACCTCACCAATTGGAGGGACTGAT
CTGGGGCCAGGGAACCCTGGTCACCGTCTCCTC

FEEETEEEr et e e e

GACCCCGGTCCCTTGGGACCAGTGGCAGAGGAG

Cas9:

HDRT-B (Sense)
ACAATGACCAACATGGACCCTGTGGACACAGCCACGTATTACTGTGCACGGggcggcgctggecgggtacccatacgacgttcecgga
ttacgctggcggcgceccggeggetactttgattatTGGGGCCAGGGAACCCTGGTCACCGTCTCCTCAGGTGAGTCCTCACAACCTC
Jeko-HCDR3: v
ACAATGACCAACATGGACCCTGTGGACACAGCCACGTATTACTGTGCACGGATACGGGGTTTTGGAGTGGTTAACCTCCCTGACTA
FErrrrrrrrrrrerrrerrrerrerrrerrrerrerreerrrrrrrerrr et e ettt e e e e
TGTTACTGGTTGTACCTGGGACACCTGTGTCGGTGCATAATGACACGTGCC

CTGGGGCCAGGGAACCCTGGTCACCGTCTCCTC 3’ mismatch tail = 36 nt
FEEEEEEEr e et et r e

ACCCCGGTCCCTTGGGACCAGTGGCAGAGGAG

Cas9:

HDRT-B (Antiense)
TGTTACTGGTTGTACCTGGGACACCTGTGTCGGTGCATAATGACACGTGCCccgeccgecgaccgcccatgggtatgectgcaaggect
aatgcgaccgccgecggeccgeccgatgaaactaataACCCCGGTCCCTTGGGACCAGTGGCAGAGGAGTCCACTCAGGAGTGTTGGAG
Jeko-HCDR3: 3’ mismatch tail = 0 nt
ACAATGACCAACATGGACCCTGTGGACACAGCCACGTATTACTGTGCACGGATACGGGGTTTTGGAGTGGTTAACCTCCCTGACTA
FErrrrrrrrrrrerrrerrrerrerrrerrrerrerreerrrrrrrerrr et e ettt e e e e
TGTTACTGGTTGTACCTGGGACACCTGTGTCGGTGCATAATGACACGTGCCTATGCCCCAAAACCTCACCAATTGGAGGGACTGAT
CTGGGGCCAGGGAACCCTGGTCACCGTCTCCTC A

FEEEEEErr et e et e

ACCCCGGTCCCTTGGGACCAGTGGCAGAGGAG

SITE 2
Mb2:
HDRT-B (Sense)



ACAATGACCAACATGGACCCTGTGGACACAGCCACGTATTACTGTGCACGGggcggecgectggecgggtaccecatacgacgttcecgga

ttacgctggcggcecgecggeggetactttgattat TGGGGCCAGGGAACCCTGGTCACCGTCTCCTCAGGTGAGTCCTCACAACCTC

Jeko-HCDRS3: v

ACAATGACCAACATGGACCCTGTGGACACAGCCACGTATTACTGTGCACGGATACGGGGTTTTGGAGTGGTTAACCTCCCTGACTA

FEEEEEEEEEr et et r e e e e rrerrrrrrrererrerrerrrrrrrererrrrrerernd

TGTTACTGGTTGTACCTGGGACACCTGTGTCGGTGCATAATGACACGTGCCTATGCCCCAAAACCTCACCAATTGGAGGGACTGAT

CTGGGGCCAGGGAACCCTGGTCACCGTCTCCTC

FETEETEEEEr e et

GACCCCGGTCCCTTGGGACCAGTGGCAGAGGAG

A 3 mismatch tail = 0 nt

Mb2:

HDRT-B (Antisense)

TGTTACTGGTTGTACCTGGGACACCTGTGTCGGTGCATAATGACACGTGCCccgeccgcgaccgeccatgggtatgetgcaaggect

aatgcgaccgccgecggeccgecgatgaaactaataACCCCGGTCCCTTGGGACCAGTGGCAGAGGAGTCCACTCAGGAGTGTTGGAG
3’ mismatch tail = 31 nt

ACAATGACCAACATGGACCCTGTGGACACAGCCACGTATTACTGTGCACGG TTTG ACTA

FEEEEEEErrrrr et e e e e e e rrrrrerrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrn

TGTTACTGGTTGTACCTGGGACACCTGTGTCGGTGCATAATGACACGTGCCTATGCCCCAAAACCTCACCAATTGGAGGGACTGAT

CTGGGGCCAGGGAACCCTGGTCACCGTCTCCTC

FEEEETEEErr ettt

GACCCCGGTCCCTTGGGACCAGTGGCAGAGGAG

Cas9:

HDRT-B (Sense)
ACAATGACCAACATGGACCCTGTGGACACAGCCACGTATTACTGTGCACGGggcggcgectggecgggtacccatacgacgttcecgga
ttacgctggcggcgecggeggectactttgattat TGGGGCCAGGGAACCCTGGTCACCGTCTCCTCAGGTGAGTCCTCACAACCTC
Jeko-HCDRS3: v
ACAATGACCAACATGGACCCTGTGGACACAGCCACGTATTACTGTGCACGGATACGGGGTTTTGGAGTGGTTAACCTCCCTGACTA
FEEEEEEEErrr et et r e e rrerrrrrrrererrerrererrrrrererrrrrerernd
TGTTACTGGTTGTACCTGGGACACCTGTGTCGGTGCATAATGACACGTGCCTATGCCCCAAAACCTCACCAATTGGAGGGACTGA
CTGGGGCCAGGGAACCCTGGTCACCGTCTCCTC

FETETTEEEEr et 3’ mismatch tail = 2 nt
ACCCCGGTCCCTTGGGACCAGTGGCAGAGGAG

Cas9:

HDRT-B (Antisense)
TGTTACTGGTTGTACCTGGGACACCTGTGTCGGTGCATAATGACACGTGCCccgeccgecgaccgecccatgggtatgectgcaaggect
aatgcgaccgccgecggeccgecgatgaaactaataACCCCGGTCCCTTGGGACCAGTGGCAGAGGAGTCCACTCAGGAGTGTTGGAG
Jeko-HCDR3: 3’ mismatch tail = 34 nt y
ACAATGACCAACATGGACCCTGTGGACACAGCCACGTATTACTGTGCACGG A
FEEEEEEEErrr et e et e e e rrrrrrrrrrrrrrrrrrrrrrrerrrrrrrrrrrrrrrernd
TGTTACTGGTTGTACCTGGGACACCTGTGTCGGTGCATAATGACACGTGCCTATGCCCCAAAACCTCACCAATTGGAGGGACTGAT
CTGGGGCCAGGGAACCCTGGTCACCGTCTCCTC

FETETTEEEEr e et

GACCCCGGTCCCTTGGGACCAGTGGCAGAGGAG

SITE 3

Mb2:

HDRT-B (Sense)
ACAATGACCAACATGGACCCTGTGGACACAGCCACGTATTACTGTGCACGGggcggcgctggecgggtacccatacgacgttceccgga
ttacgctggcggecgeccggeggetactttgattatTGGGGCCAGGGAACCCTGGTCACCGTCTCCTCAGGTGAGTCCTCACAACCTC
Jeko-HCDRS:
ACAATGACCAACATGGACCCTGTGGACACAGCCACGTATTACTGTGCACGGATACGGGGTTTTGGAGTGGTTAACCTCCCTGACTA
FEEEEEEEEErr e et r e e e e rrrrrrrrrrrrrrrerrrrerrrrrerrrrrrrerernd
TGTTACTGGTTGTACCTGGGACACCTGTGTCGGTGCATAATGACACGTGCCTATGCCCCAAAACCTCACCAATTGGAGGGACTGAT

CTGGggCCAGGGAACCCTGGTCACCGTCTCCTC

FEETETEErr et e et et et

GACCCCGGTCCCTTGGGACCAGTGGCAGAGGAG
3’ mismatch tail = 0 nt

Mb2:

HDRT-B (Antiense)



TGTTACTGGTTGTACCTGGGACACCTGTGTCGGTGCATAATGACACGTGCCccgeccgcgaccgcccatgggtatgectgcaaggect
aatgcgaccgccgecggecgccgatgaaactaataACCCCGGTCCCTTGGGACCAGTGGCAGAGGAGTCCACTCAGGAGTGTTGGAG
Jeko-HCDR3: 3’ mismatch tail = 40 nt
ACAATGACCAACATGGACCCTGTGGACACAGCCACGTATTACTGTGCACGG GTTA

frerrrrreerrrrrrrrrrrrrrrrrrrrrrrrr e rr e e e e e e e e e e e e e
TGTTACTGGTTGTACCTGGGACACCTGTGTCGGTGCATAATGACACGTGCCTATGCCCCAAAACCTCACCAATTGGAGGGACTGAT

‘ECCAGGGAACCCTGGTCACCGTCTCCTC
FEETEEEE e et e e
GACCCCGGTCCCTTGGGACCAGTGGCAGAGGAG
Cas9:

HDRT-B (Sense)
ACAATGACCAACATGGACCCTGTGGACACAGCCACGTATTACTGTGCACGGyggcggcgctggecgggtacccatacgacgtteccgga

ttacgctggcggcgeccggeggetactttgattatTGGGGCCAGGGAACCCTGGTCACCGTCTCCTCAGGTGAGTCCTCACAACCTC
Jeko-HCDR3:
ACAATGACCAACATGGACCCTGTGGACACAGCCACGTATTACTGTGCACGGATACGGGGTTTTGGAGTGGTTAACCTCCCTGACTA

Frrrrrrrrererrrrrrrrrrrerrrrrrrrrrrrrr e e e e e e e e e e e e e e e
TGTTACTGGTTGTACCTGGGACACCTGTGTCGGTGCATAATGACACGTGCCTATGCCCCAAAACCTCACCAATTGGAGGGACTGAT

CTGGGGCCAGGGAACCCTGGTCACCGTCTCCTC

FEEEErerrrrer e ettt e r e e

GACCCCGGTCCCTTGGGACCAGTGGCAGAGGAG
3’ mismatch tail = 0 nt

Cas9:

HDRT-B (Antisense)
TGTTACTGGTTGTACCTGGGACACCTGTGTCGGTGCATAATGACACGTGCCcecgecgecgaccgcecccatgggtatgectgcaaggect

aatgcgaccgccgcecggecgccgatgaaactaataACCCCGGTCCCTTGGGACCAGTGGCAGAGGAGTCCACTCAGGAGTGTTGGAG
Jeko-HCDR3: 3’ mismatch tail = 41 nt
ACAATGACCAACATGGACCCTGTGGACACAGCCACGTATTACTGTGCACGG

crerrrrreerrrrrrerrrrrrrrrrrrrrrrrrr e e e e e e e e e e e e e e e
TGTTACTGGTTGTACCTGGGACACCTGTGTCGGTGCATAATGACACGTGCCTATGCCCCAAAACCTCACCAATTGGAGGGACTGAT

CCAGGGAACCCTGGTCACCGTCTCCTC

FECEEEErrrrr e e e
GACCCCAGGTCCCTTGGGACCAGTGGCAGAGGAG

SITE4

Mb2:

HDRT-B (Sense)
ACAATGACCAACATGGACCCTGTGGACACAGCCACGTATTACTGTGCACGGggcggcgctggecgggtacccatacgacgtteccgga
ttacgctggcggecgeccggeggetactttgattatTGGGGCCAGGGAACCCTGGTCACCGTCTCCTCAGGTGAGTCCTCACAACCTC
Jeko-HCDR3: v
ACAATGACCAACATGGACCCTGTGGACACAGCCACGTATTACTGTGCACGGATACGGGGTTTTGGAGTGGTTAACCTCCCTGACTA
FErrrrrrrrrrrrrrrrrerr et rr e et e et et e e e e e e e
TGTTACTGGTTGTACCTGGGACACCTGTGTCGGTGCATAATGACACGTGCCTATGCCCCAAAACCTCACCAATTGGAGG,
CTGGGGCCAGGGAACCCTGGTCACCGTCTCCTC L A )
IR R R AR 3 mismateh tail = 8 nt

ACCCCGGTCCCTTGGGACCAGTGGCAGAGGAG

Mb2:

HDRT-B (Antiense)
TGTTACTGGTTGTACCTGGGACACCTGTGTCGGTGCATAATGACACGTGCCcecgeccgecgaccgcccatgggtatgectgcaaggect
aatgcgaccgccgecggeccgecgatgaaactaataACCCCGGTCCCTTGGGACCAGTGGCAGAGGAGTCCACTCAGGAGTGTTGGAG
Jeko-HCDRS: 3’ mismatch tail = 23 nt
ACAATGACCAACATGGACCCTGTGGACACAGCCACGTATTACTGTGCACGG CCTCCCTGACTA
FEEEEEEEErrr et e et e e e rrrrrrrrrrrrrrrrrrrrrrrerrrrrrrrrrrrrrrernd
TGTTACTGGTTGTACCTGGGACACCTGTGTCGGTGCATAATGACACGTGCCTATGCCCCAAAACCTCACCAATTGGAGGGACTGAT
CTGGGGCCAGGGAACCCTGGTCACCGTCTCCTC A
FEEEETEEEEr et



GACCCCGGTCCCTTGGGACCAGTGGCAGAGGAG

Cas9:

HDRT-B (Sense)
ACAATGACCAACATGGACCCTGTGGACACAGCCACGTATTACTGTGCACGGyggcggcgctggecgggtacccatacgacgttecgga

ttacgctggcggcgeccggeggetactttgattatTGGGGCCAGGGAACCCTGGTCACCGTCTCCTCAGGTGAGTCCTCACAACCTC

Jeko-HCDR3:
ACAATGACCAACATGGACCCTGTGGACACAGCCACGTATTACTGTGCACGGATACGGGGTTTTGGAGTGGTTAACCTCCCVTGACTA
PEEEEEEEr et ettt et e r et et ettt e et et
TGTTACTGGTTGTACCTGGGACACCTGTGTCGGTGCATAATGACACGTGCCTATGCCCCAAAACCTCACCAATTGGAGGG
CTGGGGCCAGGGAACCCTGGTCACCGTCTCCTC
FEEETEEEErrrr ettt et
ACCCCGGTCCCTTGGGACCAGTGGCAGAGGAG

3WﬂBmaé%tmI:7nt

Cas9:

HDRT-B (Antisense)
TGTTACTGGTTGTACCTGGGACACCTGTGTCGGTGCATAATGACACGTGCCcecgecgecgaccgceccatgggtatgetgcaaggect
aatgcgaccgccgcecggecgccgatgaaactaataACCCCGGTCCCTTGGGACCAGTGGCAGAGGAGTCCACTCAGGAGTGTTGGAG
Jeko-HCDR3: 3" mismatch tail = 29 nt
ACAATGACCAACATGGACCCTGTGGACACAGCCACGTATTACTGTGCACGG TGACTA
FEEEEEEEErrr et e e e e e e e rrerrrrrrrrrerrerrrrerrrrrererrrr e
TGTTACTGGTTGTACCTGGGACACCTGTGTCGGTGCATAATGACACGTGCCTATGCCCCAAAACCTCACCAATTGGAGGGACTGAT
CTGGGGCCAGGGAACCCTGGTCACCGTCTCCTC

FETEETEEEEr e et

GACCCCGGTCCCTTGGGACCAGTGGCAGAGGAG



